
 

SUB-ADMIRAL 'EO 3/4' | Filtration System  
 
 
 

MODEL PRICE CODE 

SA1200C C11EO 

SA1200PP PP11EO 

SA1200K K11EO 
 

Product Bulletin: F-506 

Operation and Service Guide: O-0903 

NO DESCRIPTION QTY CPVC PP PVDF 

1 Motor 1/8hp 115//230V 60//50Hz 1  66-2670  

2 Vapor Seal 1  39-8119  
3 Tee Handle 3/8-16 1  11-0265  

4 Spacer  CPVC 1  44-3194  

5 Screw Flat Head 3/8-16x1 SS 1  11-0664  

6 Washer  1/4 TI 4  11-0534  
7 Washer Lock  1/4 TI 4  11-0322-T  

8 Bolt  1/4-20x3/4" TI 4  33-0044  

9 Pump Body 1 39-8111-1C 39-8111-1PP 39-8111-1K 

10 Impeller 1 39-8106-1C 39-8106-1PP 39-8106-1K 
11 O-Ring  EPDM 1  22-0868  
   FKM   22-0868-V  

12 Suction Cover 1 39-8105-C 39-8105-PP 39-8105-K 
13 Suction Retainer 1 39-8102-C 39-8102-PP 39-8102-K 

14 Nipple Close 1NPT 1 33-1011 33-1011-PP 33-1011-K 

15 Cartridge Adapter 1 44-1570-C 44-1570-PP 44-1570-K 

16 Screw  3  11-2137 11-0663 
 17 Filter Media  1 see bulletin M-109 

18 Plug  PE 1  99-0645  

19 Eductor 3/4NPT 1 33-1733-C 33-1733 33-1733-K 

20 Elbow 45° 3/4NPT 1 33-0976 33-0976-PP 33-0976-K 
21 Screw 1/4-20x3/4" SS 2  11-0468  

22 Washer Lock  1/4 SS 2  11-0322  

23 Wing Nut  1/4-20 2  11-0296  

24 Mounting Bracket  SS 1  44-1580  
      
      

 

PARTS LIST 

P-7325A 
4/15/2014 
Page 1 of 1 
 
 
 

® 

© 2014 Serfilco Ltd, All Right Reserved. 

 

2900 MacArthur Blvd.   Northbrook, IL. USA 60062   WWW.SERFILCO.COM   (800) 323-5431  

file://engineering/contactus.aspx
file://engineering/contactus.aspx
/pdfs/bulletins/P-316.pdf
/pdfs/bulletins/F-506.pdf
/pdfs/liturature/O-0903.pdf
pdfs/bulletins/M-109.pdf
/pdfs/bulletins/M-109.pdf
file://engineering/contactus.aspx
http://www.serfilco.com/
file://engineering/contactus.aspx
file://engineering/contactus.aspx
file://engineering/contactus.aspx
file://engineering/contactus.aspx
file://engineering/contactus.aspx
file://engineering/contactus.aspx
file://engineering/contactus.aspx
http://www.serfilco.com/

